= AH O
N = 0 &8 AF S & Al A
2N 23HSH
Hi: R20=RE
el AR UHESH (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
23 =s 0 6,812,131 4,052,3% 2,759,737
= 419,052
Al 698,742
2 5,694,337
Zll=d= 1,456,070 1,112,542 343,528
ALIANESH 293,930 265,300 28,630
=2 ESM X 250,000 250,000 0
201 LEH2HH| 250,000 100,000 150,000
03 HAIRHHI 250,000 100,000 150,000
O¢LE HESH #HAIRS 250,000,000 250,000
S JE 29 18,930 15,300 3,630
201 LBEt2HH| 17,630 14,000 3,630
01 AF2 22| 17,630 14,000 3,630
O¢EIA=HZ=T|G & &
70,0002 x252% x83| 14,000
ONMCtHEIIRA| S /A2S 300,000 10 3,000
Og£o H= 70,0002 x93 630
203 & L =Zd| 1,300 1,300 0
03 Al Z= X 2= & H| 1,300 1,300 0
OdE=2 HESH 82X 1,300,000 1,300
M HESH N 25,000 0 25,000
207 ™ PRI 25,000 0 25,000
01 AR E Y| 25,000 0 25,000
O¢43 HESH Y o22d
25,000,000& 25,000
FEHs" 29 589,859 503,801 86,058
Zotct 2 X3 346,446 272,384 74,062
203 9 L =Zd| 1,000 1,000 0
03 Al =R H 2 =KIY| 1,000 1,000 0
oo 29 24 1,000,000 1,000
301 et AZ 298,880 262,884 35,996
NMU=HA - 2SESEAS 298,880 262,884 35,996
OFgaoctay 287,840,000 287,840
Oz0te 82 nal 11,040,000 11,040
401 Al EHIZL 2] 46,266 0 46,266
01 A& H| 45,776 0 45,776
OgsA OlFN ME SHHIMNE Z2A
41,668,000 41,668
OAl Al & AHHI 4,108,000 4,108
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M Z3M=sH
B 2HENE
tel 23z 28 29 (el &)
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
01l &+ o
OSSRz 222 L3H
900& 20000 =128 2,160
03 S AI2 &I 122,400 26,400 96,000
Og2= M 26,400
0XAH S 1,000,000& 122 12,000
od=o 70,0003 x5 #2312 8,400
02 clZa 1,000& 50001 =12 6,000
O3 20=Rl =4 4,000,000& #243| 96,000
Eoli=&s N2 209,620 109,340 100,280
201 24| 8,820 8,540 280
01 AtR 22l 8,820 8,540 280
O=2stu=dr=R33sl s+
70,000 x10& +72] 4,900
OXZEA3al slof+=H 70,0003 «5H %23 700
O2E AN slel=F 70,0003 15 »23] 2,100
OANZHAAKMNESRE HERE A=
70,0003 5% 350
Ogs+=2 M 70,000& * 113 770
203 ¥R 2| 800 800 0
03 AR FAH R F A 800 800 0
O=slz=gs N gRFA 800,000 800
307 2I2tol & 200,000 100,000 100,000
02 It A2 X 200,000 100,000 100,000
O=2stti=&gs X 200,000,000& 200,000
EQRs0Y 29 57,500 51,500 6,000
201 24 57,000 33,000 24,000
03 A2 & 57,000 33,000 24,000
OelEd, Z2AH ,82S M
1,125,000& =83 9,000
O™AL AIEAXHEl S 3,000,000 +82 24,000
Oz33¢ 3,000,000 *82] 24,000
203 R =2 500 500 0
03 A=A H 2= H| 500 500 0
OER:=30tE 29 g2 500,000& 500
Orelsety 22l 4,041 4,041 0
201 L2 1,500 4,041 AN2,541
01 AtR2telH 500 3,041 N2,541
Ogt=2H| 500
olr2Isteg &cl MEHI 500,000& 500
02 2324l 1,000 1,000 0




M Z3M=sH
B 2HENE
tel: 23z 25 29 (el =@
5 . MU -
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
OAl & &EHI= Xl 1,000,000& 1,000
307 212+01 A 2,541 0 2,541
05 BIZtRE = 2,541 0 2,541
OSZHIAAH 2H 2,541,000& 2,541
ROt SEA 29 85,000 0 85,000
201 gEt24Ed| 85,000 0 85,000
03 A2 & 85,000 0 85,000
OelE2d, ZAH, =% S MA
7,000,000& 7,000
OAH AIEZ Xl S 11,000,000& 33l 33,000
O=233d 15,000,000 *32 45,000
AMUN a2t 249 16,560 0 16,560
201 224 16,560 0 16,560
03 A2 & 16,560 0 16,560
oo+ 30,000& *123] 360
Og2= M 16,200
oXAH S 1,000,000& 123 12,000
oo 70,0003 501 =12& 4,200
Zottl=s SsH 2438t 75,000 0 75,000
207 &R IHEH 75,000 0 75,000
01 g4 75,000 0 75,000
OSsETSH Ba5 S8
75,000,000& 75,000
NSEQ XgsteE 2d2MHA S 75,000 0 75,000
= 32,000
Al 9,000
T 34,000
ZZOHHMA 2= 30,000 0 30,000
22 22 30,000 0 30,000
201 get=24Ed| 30,000 0 30,000
01 AR 2telH] 30,000 0 30,000
oz g2 MA 30,000, 000& 30,000
FAEAES HAAMHIA 45,000 0 45,000
= 32,000
Al 9,000
- 4,000
X ALY 45,000 0 45,000
= 32,000
Al 9,000
T 4,000
301 et at= 45,000 0 45,000




M 2=
M DFEO XgstE 2HFAMUIA HB
&2 FHUHES HBAMEIA CEREE
_ _ MEC
A -3 -H2A(SH) - HEAMY - BES (il & OH ‘Oﬁ/l\_;ou Hlw &2
= 32,000
Al 9,000
- 4,000
01 MBI 2EE =052 45,000 0 45,000
OddtHd At XI& 45,000,000& 45,000
= 32,000
Al 9,000
- 4,000
Ng=23 &s 238,175 132,655 105,520
Al 37,046
_ T 201,129
S AR2E 2Zte] 3,079 3,079 0
ANMZ AIHES XIJ 3,079 3,079 0
307 2I2+0I M 3,079 3,079 0
02 QI H A2 X 3,079 3,079 0
OGNS HSEL JAMES S 3,079
o MEHAO Y 200,000 *5H 1,000
oZLHAOHI 100, 000& 74 700
o MEEHAl, 2YES 1,379,000& 1,379
g 2t dsgs N 123,196 122,176 1,020
Al 37,046
- 86,150
A2 AgEs X 14,000 14,000 0
203 SR F& 800 800 0
03 AIZF= &R A 800 800 0
Od+23d 28 g2 F& 800,000& 800
307 2I2+0I M 13,200 13,200 0
02 QItF A2 X 13,200 13,200 0
Od+=23td AIS X 13,200
o &2lHl 1,000,000& 123 12,000
o AtREZH] 100,000 »12& 1,200
N2t AAR=2E bl X& 20,000 20,000 0
Al 15,000
- 5,000
307 2I2+01 ™ 20,000 20,000 0
Al 15,000
- 5,000
02 It A8 X 20,000 20,000 0
OXNYL=23td AIR=E o12dl X&
20,000,000 20,000
Al 15,000
- 5,000
Ned2ed AtgEsHl N 26,656 25,636 1,020




SN 2K
Ha: (A2 XE
ol XY 25 NEHE X (B9 &)
- _ — PSS
SAN-ZH-SA(FA) - NFAY - BES Aol oﬁfﬁﬁ HwsZ
A 22,046
2 4,610
307 212H0| & 26,656 25,636 1,020
Al 22,046
2 4,610
02 MR E 26,656 25,636 1,020
OnNYgese 29 26,656,000% 26,656
Al 22,046
2 4,610
F0I2EHSIEANY 62,540 62,540 0
307 212H0| & 62,540 62,540 0
02 BIAANBE 62,540 0 62,540
GEINE-] 62,540, 0002 62,540
SS9 el 8,400 7,400 1,000
SEVRY HEXN 8,400 7,400 1,000
201 Yut2 bl 4,000 3,000 1,000
01 ALR 2l t] 4,000 3,000 1,000
ORSHRAT B ESE 4,000,002 4,000
202 014 3,600 3,600 0
01 =401 bl 3,600 3,600 0
OweHeisd, oY, HYE XESSHH0iHl
10,0008 *3% 102 +122 3,600
203 YR E=FY| 800 800 0
03 Al BERY DX 800 800 0
OREBAL AREX 800,000 800
Q14T MEBA B 103,500 0 103,500
Ol TAL BE 103,500 0 103,500
201 L2 Y| 3,500 0 3,500
01 ALR eIt 3,500 0 3,500
OSLTA HEIAS EHuag
70,0008 %102 53] 3,500
307 912+0| ® 100,000 0 100,000
02 IAAMRE 100,000 0 100,000
OIS TAL ME A} 100,000,0002! 100,000
SN 2E L Mz 1,500 11,100 9,600
Al 1,200
2 300
25 el 1,500 11,100 A9,600
Al 1,200
2 300
S5 Fo2elel B4 1,200 1,200 0
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A3,880
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70
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LH3r
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372,003
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10,000
86,120
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10,000
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10,000
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1,600
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M Z3M=sH

Ha: HS B2 TA 7
ool MEXE 54 2 XY (el:@g
_ _ _ N E
SA BB H(BH) - MBAY - B2 Ofl & o Gl o HRs2
OAr2 22l 1,070
022D HMAE 80,0002 *103] 800
oAE R 18,0008 *153] 270
203 2= bl 1,900 2,400 A500
03 Al B =R R =X Y| 1,900 2,400 A500
OMEHS X2 1,900,0002 1,900
301 YR A 1,555 0 1,555
10 BALAIH AL S 1,555 0 1,555
OMEHSEHS E23 1,555,002 1,555
307 212+0| A 166,320 150,000 16,320
02 BIAANBE 16,320 0 16,320
OOIEAZRA 29 14,400,00024 14,400
O2End 24 1,920,0002 1,920
04 DIFHALR 150,000 150,000 0
OZ=% MEHSHS XY 140,000,0008 140,000
OXMIYANSIEHA4E XY 10,000,0009! 10,000
A1 2 3 S 01 ) 30,000 20,000 10,000
Al 10,000
2 20,000
307 212+0| | 30,000 20,000 10,000
Al 10,000
2 20,000
04 BIFALR 30,000 20,000 10,000
O2012A1 21 4 & S T3] 30,000,0002 30,000
Al 0,000
2 20,000
Koictel MERSX St 146,880 139,968 6,912
2 66,240
Al 47,520
2 33, 120
307 212H0| | 146,880 139,968 6,912
= 66,240
Al 47,520
2 33, 120
02 BIAANBE 146,880 139,968 6,912
ONASLI MBS TR 6
2,040,000 *62 *122 146,880
2 66,240
Al 47,520
2 33, 120
H2MHSEE XA 73,440 46,656 26,784
2 33, 120
Al 23,760
2 16,560




M Z3M=sH

H: S Y TAl 7
o9l MBS S48 2 XY (B9 e
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
307 £12H0| & 73,440 46,656 26,784
=2 33,120
Al 23,760
3 16,560
02 B2t A R E 73,440 46,656 26,784
ONZAHSESXEA 3
2,040,000 +3% * 122 73,440
= 33, 120
Al 23,760
- 16,560
RPSHXER I 24,480 11,664 12,816
307 £12+0I & 24,480 11,664 12,816
02 B2t AR X 24,480 11,664 12,816
ORIPSEXNCK X 2,040,0002! * 122 24,480
ATRHIRH AHY 128,520 68,000 60,520
=2 89,964
Al 19,278
3 19,278
301 LB A 128,520 68,000 60,520
= 89,964
Al 19,278
2 19,278
01 AFEI &S 2513 128,520 68,000 60,520
OAZZHIRH At 128,520,000 128,520
= 89,964
Al 19,278
2 19,278
I3 MSAE 22l 72,602 56,260 16,432
TTZASAL B 72,602 56,260 16,432
101 Q121 4| 36,900 0 36,900
04 JIAH22 RS 24 36,900 0 36,900
OMS A2l 21| 36,900
02z 41,0002 *62 1202 29,520
oFELY 41,0008 6% *247 5,904
0URILY 41,0002 62 62 1,476
201 YLEr2 A H| 24,740 26,408 A1,668
01 AFR 22l H] 5,340 7,008 A1,668
OYst+2H| 5,340
CMEBHSA ASE 2000002 * 122 2,400
CHAFBIIHII UKD 20,0008 * 122 2,400
oFLIIYN, TE DB 30,0008 * 122 360
cMENSH MERSE 15,0008 * 122 180
02 B2 19,400 19,400 0




00 2 [o

CH !
5 o2 oA 7
2 ASAE 22

M-S (3) - HRAY - BES Aro B =2
0l &
O33=2ZHl 19,400
oM S 3,000,000& 3,000
o MBEAIEZHI=AIHI 2,000,000& 2,000
OBMUI MEBISA AlLZHISNL
300,000& «12& 3,600
OANEFHISXNE(A+MSISALHLIAFE,
gdSdSE) 300,000 *3IH A+ 12 10,800
307 212Ztol 11,052 10,452 600
05 BI”tRIEE 11,052 10,452 600
O¢==Hs3d 2l 29| 200,000& «12& 2,400
OSE3¥=7E 22l 234l 200,000 128 2,400
O¢l=HMs3d =3& tHgfdl  800,000& 6 4,800
OgixHSZH 228 2o1FHIEY
121,000 «12& 1,452
M =3 K& 12,540 12,540 0
=RMss 2N 12,540 12,540 0
307 2I2tol A 12,540 12,540 0
02 gl2tF a8 x 12,540 12,540 0
O¢t=2x=3 sk 12,540,000& 12,540
2sdJIF 29 918,569 803,273 115,296
Al 100,000
- 818,569
2sdIIR 29 918,569 803,273 115,296
Al 100,000
- 818,569
F2s3IIR 29 918,569 803,273 115,296
Al 100,000
- 818,569
201 fet2 A 87,840 66,620 21,220
01 AR 2t eld| 63,360 42,560 20,800
Oget=gH| 3,600,000& 3,600
O=&tl 59,400
od =t ZFAH| 400,000 *11H <128 52,800
o4t M| 50,000 x 11~ 123 6,600
(@) PN y= 360
odJ|dUE & EHWE 30,0008 *123 360
02 32244 24,480 24,060 420
O==22 ¥ A 5,000
o EADIARS Y CIHUAIEZ
5,000, 000& 5,000
OAl£&ZHIs Xl 6,000
o=a&2H € RXNES 6,000, 000& 6,000

_10_




SN 2SHS D
Ha: NESSYI|R 29
oo NFPSRIR 29 (25 &2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
SEETI 2,000
0CEESE ¥ PZAE PY 2,000,000 2,000
ORg R 2 11,480
oBAMHRYI 50,0008 *23l 300
oRNENEHD 500,0002 1l 500
o RS THAI 80,0002 *13] 80
o Rt 10,600
L 1, 75021 %4, 0002 4 7,000
AR 300,0002 128 3,600
202 04t 12,000 12,080 A80
01 2U0i bl 2,000 12,080 A80
OWsl 2 HXE oft] 12,000, 0002 12,000
203 &R E bl 3,300 2,800 500
03 Al ZZI R R X H| 3,300 2,800 500
ONFSSHIIL2SY ALFA  3,300,0008 3,300
301 YBrE A2 814,480 718,443 9,037
Al 100,000
= 714,480
1osas - 2sRS2Ea2 796,980 718,443 78,537
onsg 29 796,980,000% 796,980
Al 100,000
2 696, 980
12 JIEH2 43 17,500 0 17,500
OR% ZHoIds X2 17,500, 00021 17,500
405 Xt &HE St 949 3,330 A2,381
01 ML SEHSH) 949 3,330 A2,381
ORMUSEF SH] 949
MDY 7Y 949,0002 * 14 949
Hrd 2sigy U X 1,316,753 1,189,924 126,829
=2 147,728
Al 439,333
2 729,687
HaE 2st8A 75,555 62,000 13,555
= 4,400
Al 1,100
- 70,055
S PNERTE 20,000 20,000 0
307 21201 & 20,000 20,000 0
IR PEES 20,000 20,000 0
CEPNENET 20,000, 0002 20,000
HAd JlEUT 9,000 9,000 0

_11_




2A: 2SS
F: HAY B4
el Ead 23d#A (9 E2
M- XAz .t (5 HEAY . N2 A} OH HEE Hl o =2t
307 QI2tol A 9,000 9,000 0
02 Izt &t 9,000 9,000 0
OF-ENS 9,000
HdAE Hel23 11,555 10,000 1,555
301 Lot 4t 1,555 0 1,555
10 & ALALHI 1,555 0 1,555
OF=FN=! 1,555
307 2I2tol A 10,000 10,000 0
02 QI2tA &t 10,000 10,000 0
(OF=ENS! 10,000,000& 10,000
24 Sotel X 11,000 11,000 0
4,400
1,100
5,500
307 2Iz2tol A 11,000 11,000 0
4,400
1,100
5,500
02 QI2tA &t 11,000 11,000 0
OdAaY =0tel X 11,000, 000& 11,000
4,400
1,100
5,500
e HAW 12,000 12,000 0
201 B2 12,000 12,000 0
03 A2 Y 12,000 12,000 0
O&A 4 12,000,000& 12,000
2O HE 12,000 0 12,000
307 gI2toI A 12,000 0 12,000
02 QI2tA &t 12,000 0 12,000
oz 12,000,000& 12,000
HAEALE 2Z ,192,418 1,066,544 125,874
134,408
429,408
628,602
S3FAESEHA 23,194 23,194 0
9,720
9,720
3,754
307 SI2H0| & 23,194 23,194 0
9,720
9,720




2A: 2SS
= Zad 2384 Y NS
CHol: HAUAE 29 (ctel e
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
- 3,754
02 SI2HHAE X 23,194 23,194 0
OGS AL X SIS H XA
23,194,000& 23,194
= 9,720
Al 9,720
- 3,754
BAESHANL2IRARS 2SN 2,000 2,000 0
= 1,000
Al 1,000
307 2I2tol A 2,000 2,000 0
= 1,000
Al 1,000
02 It B AE X 2,000 2,000 0
O+BAE HAU2HSIRS X2
2,000,000 2,000
= 1,000
Al 1,000
S AELEANY T2 )AHR2FXA 6,000 3,500 2,500
= 3,000
Al 3,000
307 S12H0| & 6,000 3,500 2,500
= 3,000
Al 3,000
02 QA AE X 6,000 3,500 2,500
OFAELHEZIZ NH2IIE 6,000,000 6,000
= 3,000
Al 3,000
Al sz 2 770,000 250,000 520,000
Al 250,000
- 520,000
307 S12H0| & 270,000 250,000 20,000
05 QIZtRE 2 270,000 250,000 20,000
O¥AE-d22H 270,000,000 270,000
401 AIEHIZ 20 500,000 0 500,000
Al 250,000
- 250,000
01 Al &l 492,124 0 492,124
OFAdrd2 JISEZ SAH 492,124,000& 492,124
Al 246,062
- 246,062
02 Zeldl 5,376 0 5,376
OFAELEHZ J|ISEL SA 5,376,000& 5,376
Al 2,688
- 2,688
03 AI& 20| 2,500 0 2,500




2N 284S
Hal: HAW 25848 2 N
Sl HAEAL 29 (e @8
_ B} _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OBAESBB JISEY AL 2,500,0009! 2,500
Al 1,250
2 1,250
27 HAUSSHNANN 2% X2 80,000 101,700 A21,700
= 40,000
Al 40,000
307 212H0| & 80,000 101,700 ~21,700
= 40,000
Al 40,000
02 QIAAMRE 80,000 101,700 A21,700
OHAHESNANHSY 80,000,0002 80,000
= 40,000
Al 40,000
RPHAENAMEY 2Y X2 90,000 80,000 10,000
Al 45,000
2 45,000
307 212H0| & 90,000 80,000 10,000
Al 45,000
2 45,000
EIEIE S 90,000 80,000 10,000
OBAETAHE S 90,000, 0002 90,000
Al 45,000
2 45,000
=ESSE Ve ] 198,824 153,750 45,074
=2 80,688
Al 80,683
2 37,448
307 212H0| & 198,824 153,750 45,074
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